Selected Answers:

1) 62
2) x-32
3) 8x+y+3

4) 
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5) -47
6) -1.7
7) Ind. – practice time; Dep. – dance scores
8) positive


9) negative
10) discrete


11) The car started at 4 miles per hour, then slowed down over the next hour, then sped back up the next two hours, then remain at that speed for the rest of the time.

12) Function yes, because the domain values are not repeated.


13) Not shown
14) Ind. – rain in Central Texas; Dep. – amount of water in Lake Travis

15) Not shown


16) R: {10, 13, 14}

17) D: {-4, -1, 0, 2}; R: {-9, 0, 6, 13}


18) Function No, because the domain value of 2 was used more than once.
19) y=3x


20) R: {8, -4, -10, -52}
21) Not shown
22) f(x)=135x


23) Function yes, because the graph of the equation produces a straight line that passes the vertical line test.


24) a=-7

25) x=-11

26) x=336

27) c=1

28) no solutions
29) w=9

30) x=6

31) x=-7

32) w=c-2k


33) 
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34) 
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– L = w
35) -6x+2y=-9
36) no correlation
    37) negative 


38) f(x)=3.95x+7
39) D: { 1,2,4,8,12}

40) D: {
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41) Not shown
42) Not shown


43) Graph 1 – Function yes (passes the vertical line test); Graph 2 – Function no (does not pass the vertical line test); Graph 3 – Function yes (no domain value is repeated)



44) Linear graph – yes; because the total cost of his gasoline divided by the number of gallons purchased would be constant.
           45) m=145-5g
46) m=
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47) D: {
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48) Not shown
49) Not shown


50) Linear Yes, because the change in y divided by the change in x is constant.


51) rate of change is one.  It means Mrs. Montgomery falls one time every day.


52) Rate of change is $15 per hour   
53) Where the graph crosses the y-axis.
    54) Not shown

55) Not shown
56) y=-2x+3
57) 
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58) Zero 
59) x-intercept: (180,0); y-intercept (0,1500); m=
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60) x-int. (12, 0); y-int. (0,4)
61) the y-intercept 
62) x-int. (-4.5, 0); y-int. (0, -4); slope =
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63) The number of monthly payments goes from 12 months to 5 months.
64) x-int. (1.5, 0); y-int. (0, 3)

65) y=-9x+2

66) y=-x+5
67) c=.05t+65
68) Not shown
69) y-int. (0, -2)
70) 
[image: image14.wmf]7

4

3

-

=

x

y



71) y=-3x+12
72) c=10x+90
73) y=-3


74) y=3x+4

75) m=3

76) m=2

77) 
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   78) 
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